SM3 Name

Section 4.7B Date Period

A polynomial function with rational coefficients has the follow zeros. Find all additional zeros.

1) 2, 1+3i 2) =2, 1+2i

Y =B d, L= 4) 3, —1-i, 2+i

Find the discriminant of each quadratic equation then state the number and type of solutions.

5) 42 =1 6) 3x* +2x + 4

7) 4x* +12x +9 8) x*+3x+4

Solve each equation with the quadratic formula.

9) 2a* -4a+4=0 10) n* +2n+4=0

11) 46> -2b+1=0 12) n* +2n+5=0



State the possible rational roots for each equation. Then find all roots.

13) x> +4x*-3x-12=0 14) x* - x> +3x+5=0

15) x> = 2x* +3x-6=0 16) x> —4x>+4x-16=0

17) x* - 4x® +x* +16x-20=0 18) x* - 5x* +7x® - 5x +6=0
19) x* +3x* +26x-30=0 20) x*-x*-x2-x-2=0



Write a polynomial function of least degree with integral coefficients that has the given zeros.

31y 5, 7 22) 2, -3
23) =2, -4, i 24).3,-3, i
25) -1, 3, -2i 26) i, /5



Match each graph to the given zeros
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SM3 Name

Section 4.7B Date Period

A polynomial function with rational coefficients has the follow zeros. Find all additional zeros.

1) 2, 1+3i 2) =2, 1+2i
l—%¢ |-2
3) 3+i, 1-2i 4) 3, -1-i, -2+1i
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Find the discriminant of each quadratic equation then state the number and type of solutions.
5 x2e2e-1 (D)= ¥ 6) 3x% +2x + 4 4-‘/[3>(‘4)
2 R 2. L,
D ada 12649 ydoY(Af1)=0 8 X 43x+4 g _off))fy)= =T
| TR S “Teia

Solve each equation with the quadratlc formula.

9) 2a> -4a+4=0 ‘i“’l)lp (2 [”) 10) n® +2n+4=0 ~F % t—[—tlﬂ)'["f)
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State the possible rational roots for each equation. Then find all roots.

13) ¥ +4x*-3x-12=

15) #* = 2x* 4+ 3% =6=0
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&V‘QS', ;_’5/ X

20) x Y i kT [

Fres. T [l 2)

Feros'. 2, =g



Write a polynomial function of least degree with integral coefficients that has the given zeros.
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o= X2 - Bx-1 2 2l = x5



Match each graph to the given zeros

27) 2i, 3, -4 f)

29) 2i, i )
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